Exermse 1.

(FrRoOM TEX 2
THIS pRe TBOOK, PROBLEMS 4.30, 4.32)

= BLEM IS WORTH 2 POINTS
andom variable X has cdf:

0 forz <0
FX(‘I):{ 1__,3—2= forx 20

NOTE! This is the same CDF as an earlier problem.
(a) Find Fx(z|A), where A = {X > 0}.
(b) Find Fx(z]C), where C = {X =0}
(¢) Find fx(z|B) and Fy(z|B), where B = {X > 0.25}
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Exer_cise 2. (FROM EXAM 2 OF 3; SPRING 2016))
Consider the random variable X with PDF given by

0 <0
@) =1 5, 15522
0 otherwise
(a) Sketch fx(z). Label axes and relevant values.
(b) Find and sketch the conditional density fx(z|A) for the event A = {X < 1/4}.

(¢) What is the conditional mean E(X|B) for the cvent B = {2/3 < X < 4/3}?
(Hint: you do not need to find P(B) to solve part (c)!)
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Exercise 3.

TI‘{ISF PROBLEM IS WORTH 2 POINTS \
Let X be a uniform random variable on the interval (0,10). —gy (fx) = e gc 8 ) .

—_—
(a) Find P(X < 6) and P(X > 8).
(b) Compute the conditional PDF’s of fx (z]X < 6) and f:(z|X > 8).
(¢) Find the conditional means of E(X|X < 6) and E{X|X > 8).

(d) Find the conditional variances of Var(X|X < 6) and Var(X|X > 8).
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